
M.Sc.  DEGREE EXAMINATION, APRIL  2018.
(Biostatistics)
II YEAR  IV SEMESTER
Core Elective -V  -  FORECASTING AND DECISION MAKING TECHNIQUES

Time : 3 Hours								Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q. NO. 1-12)Answer any TEN questions

1. Define Business forecasting.
2. Explain autocorrelation.
3. Explain Naive's model of forecasting.
4. Write the three equations of Holt's method.
5. Describe the situation where multiplicative decomposition may be more appropriate than the additive model.
6. What do you understand by Business indicators? 
7. Describe ARMA(p, q).
8. Define a Autoregressive Model.
9. Explain (i) state of nature   (ii) Pay off 
10. What is Expected Monetary Value? 
11. Define Expected Opportunity Loss.
12. Categories each of the following into stationary and non stationary series:
                a. A series that has a trend.
                b. A series whose mean value is changing over time.


SECTION B – (5 × 5 = 25 marks)
(Q. NO. 13-19)Answer any FIVE questions

13. 

The following table shows the data for the daily number of customer requiring repair work and a forecast of those data . compute MAD and MSE

	t
	1
	2
	3
	4
	5
	6
	7
	8
	9

	

	58
	54
	60
	55
	62
	62
	65
	63
	70

	

	-
	58
	54
	60
	55
	62
	62
	65
	63


14. Describe Winter's method of forecasting.
15. Explain the components of time series.
16. 
 Identify the ARIMA model for the equation 
17.  Write a note on (i) Laplace criterion (ii) Minimax regret criterion.
18. Discuss the advantages and disadvantages of ARIMA model.
19. Explain the basic steps of a decision making process. 
P.T.O.

SECTION C – (3 × 10 = 30 marks)
(Q. NO. 20-24)Answer any THREE questions

20. Explain the steps in forecasting and describe exploring data patterns.
21. Explain  adaptive smoothing and give an illustration. 
22. The following table gives details about the total dollars spent on TV advertising (in millions) (Y) :

	Year
	2009
	2010
	2011
	2012
	2013
	2014
	2015
	2016
	2017

	Y
	268
	290
	281
	304
	317
	354
	378
	425
	445


 Fit a linear trend.
23. Discuss in detail Box-Jenkins Model building strategy.
24.  (i). Describe Decision tree analysis
(ii). A businessman has three alternatives open on him each of which can be followed by any of the four possible events. The conditional payoff (in Rs) for each action-event combination are given below:

	Alternative
	Pay off conditional on events

	
	A
	B
	C
	D

	X
	8
	0
	-10
	6

	Y
	-4
	12
	18
	-2

	Z
	14
	6
	0
	8


Determine which alternative should the businessman choose, if he adopts the maximin criterion.
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